TR TN H B S E AR R

20234F &
TSP ARG HH R H EXcE] HMTHE R
T H 27 HEZHIE T B Rk A
T4k [a] 20224F SE R[] 20244F
. . i H $55 A/ e
St AT HIMNTTEE & B Z [ B
ST AT HHR SR T RVE T ERTHE RANTERES E0E St fEd, &i. XX 2H
! (18D B HMBERE S Fik, RE H IG5,
B RA S E SR DR FUTRE IR TEN GRS, HRESHE MM
PR S INSR B RE AR T N IE, DL HACNINT, PRS0, W0 EH RS At X #
T H 52t 2 BRORMEE, TREFEREEETE. Z2HEAREARRERIEREEE S BRTN
CRERES, UBDERAGEIENASE TN, MREHGHE. EREIEEMSE, T
my gy, RFERWTASHE TEMNGE—DERE HEHRTEIHEE @
Al (7D
TS A
B4 S 91.7
AN 91.7
— AT T4 91.7
T AR K
TN BUTHEIE 4
T BUE P Y 4
EH HEAL
WiH %4 -
) MR 4 0
L 4 0
HoAth % 4 0
FAE () AE (FD)
HRIBATEL TR %L
P TR X R R 5 T H 7 15
e Fi T2 5 5T 5 5 1.7
HINTIAEIX ZE Ak 5 5 H 25 49
TR T AL X A A rliae 3 E I E 8 16
FElZe “HURge . RE4E . MR E. WABE” WA TR, EOmPBER. 4. H
K E R, TZEEESTIR BUEIRS SRNE TSN O, Hisht X EE R, W
& WAGHEER, USSR,
ERE A AR JeWPRAT 4, PRTOR AL 58 A5 TR H A5
gl | ok =ik *g%g) égéﬁ)
N SEIURHE 78 o FiWax iWax
STRERYAL
SRR P R VS VG
o Sy d=paessiilca & o
Wi SUH b —
SURFRAR AP 1 1
TR g il B} 22 1 Bl Bl
BEBN - -
RN A G Fepil
R RINR ladibp:idica 100%
Pasc-eul TEAT R =100% =100%
L R A M FEp




5 R A {4 fe 4
LS
1l BE AT "R EeRd
%N BT RRAR AL X HCE AR AR AT 2 =100% =100%
X HCE RS 4 =04 =104
G X B R i =04 =104
(N T 28 5 25 SRR B AL T ED =5000/H =5000/1
o s T ST
EHEHH AT H =04 =84
N ~ I X OB B0, EEA GBI =0k =2k
R ARbR -
HEIPAL X HUE HUTRE J) K 3¢ =0k =1
PR M T4 R 5 2 5135 B R Ja sh AR =1 =1
X B TR 2R =04 =54
It Eizpa X EE EETM GRS =5000/J =5000/J
SERALIXHE RIS =15 =15
HIXHE R YL R = =215 =215
FLIXFOE P IER T B A =100% =100%
J5ig=:Eizt 00 HXHH RS, W =80% =80%
FHALIX BB BN 7 BATBE =100% =100%
X A IR EE TR =90% =90%
. A ?ilZ%zﬁ\Iﬁ H ﬁ%a‘?ﬁﬁ&ﬁ‘r& i =100% =100%
Rl & (2555 ﬁl&%m» IR T N ) =100% =100%
KEHMEEIAR S5 & i Y J32 2 B =100% =100%
TR A A& B 2 SE BN 2 54 =0AN =50000 A\
MXEETE . AR R % =0% =90%
e X FH WA E RS B =0A =5000 A
- LNEE S SR U VAP S N IE N4 =0A =100 A
X EE 0T, BHEA SIS =0A =100\
LT A AN RS G I 4EIR I A i % =100% =100%
TN T 4 R A& B 2 51375 B J AR AR 4 =085 =35
ARSI
(2 52 SRR AR S AR =085 =35
S F—— Ti&?&ﬁi%ﬂll)\ﬁ%%; 3 =0% =95%
W I s 5 R E R =90% =90%




